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[1] A

This Test-Booklet contains 24 printed pages.

ß‚ ¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê ◊¥ 24 ¬¡ „Ò–

Your Roll Number / •Ê¬∑§Ê •ŸÈ∑˝§◊Ê¥∑§
Test-Booklet

¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê

05
Time Limit : 1 hour 30 minutes ‚◊ÿ ‚Ë◊Ê — 1 ÉÊ¥≈Ê 30 Á◊Ÿ≈U
1. When you take out the OMR Answer-Sheet placed inside the Test-Booklet, ensure that Question-Booklet Number on Test-Booklet and

OMR Answer-Sheet are same, otherwise get them changed.  Please do not mark your answers on this Test-Booklet.

¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê ∑§ ’Ëø ⁄Uπ ª∞ OMR ©ûÊ⁄U-¬òÊ ∑§Ê ’Ê„⁄U ÁŸ∑§Ê‹Ÿ ∑§ ¬‡øÊÃ˜ •Ê¬ ÿ„ ‚ÈÁŸÁ‡øÃ ∑§⁄U ‹¥ Á∑§ ¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê •ÊÒ⁄U OMR

©ûÊ⁄U-¬òÊ ◊¥ ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ∑˝§◊Ê¥∑§ ‚◊ÊŸ „Ò¥, •ãÿÕÊ ß‚ ’Œ‹∑§⁄U ŒÍ‚⁄UË ‹ ‹¥–  ∑Î§¬ÿÊ ß‚ ¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê ¬⁄U •¬Ÿ ©ûÊ⁄UÊ¥ ∑§Ê •¥Á∑§Ã Ÿ„Ë¥ ∑§⁄¥U–
2. This Booklet consists of 100 questions and carries 100 marks.  All questions are compulsory and they carry equal marks.  There is no

negative marking.

ß‚ ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ◊¥ 100 ¬˝‡Ÿ „Ò¥ ÃÕÊ 100 •¥∑§ „Ò¥–  ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥ ÃÕÊ ©Ÿ∑§ •¥∑§ ‚◊ÊŸ „Ò¥–  ́ §áÊÊà◊∑§ •¥∑§ Ÿ„Ë¥ „Ò–
3. Each question has four alternatives (A), (B), (C) and (D).  Of these four alternative answers, only one is the correct answer for each

question.  Use only Blue or Black ball point pen to answer questions.

¬˝àÿ∑§§ ¬˝‡Ÿ ∑§ Á‹∞ øÊ⁄U Áfl∑§À¬ (A), (B), (C) •ÊÒ⁄U (D) ÁŒ∞ ª∞ „Ò¥–  ßŸ øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚, ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ Á‹∞ ∑§fl‹ ∞∑§ ©ûÊ⁄U ‚„Ë „Ò–  ∑§fl‹ ŸË‹ •ÕflÊ
∑§Ê‹ ’ÊÚ‹ åflÊß¥≈U ¬Ÿ ∑§Ê „Ë ©ûÊ⁄U ŒŸ ∑§ Á‹∞ ¬˝ÿÊª ∑§⁄¥U–

4. All answers are to be marked on the OMR Answer-Sheet only.  Mark your responses carefully.  Any cutting, use of Fluid, Eraser, use of
Blade, etc. are not allowed for changing the answers and treated as wrong answer.

‚÷Ë ©ûÊ⁄UÊ¥ ∑§Ê ∑§fl‹ OMR ©ûÊ⁄U-¬òÊ∑§ ¬⁄U „Ë ÁøÁqÃ ∑§⁄¥U–  •¬Ÿ ©ûÊ⁄UÊ¥ ∑§Ê ‚ÊflœÊŸË¬Ífl¸∑§ ÁøÁqÃ ∑§⁄¥U–  ©ûÊ⁄U ’Œ‹Ÿ ∑§ Á‹∞ ∑§Ê≈U-¬Ë≈U ∑§⁄UŸÊ ÃÕÊ é‹«U, ⁄U’«∏,
‚»§Œ Ã⁄U‹ ßàÿÊÁŒ ∑§Ê ©¬ÿÊª ∑§Ë ÷Ë •ŸÈ◊ÁÃ Ÿ„Ë¥ „Ò–  ÿÁŒ ∞‚Ê Á∑§ÿÊ ¡ÊÃÊ „Ò, ÃÊ ©‚ ª‹Ã ©ûÊ⁄U ◊ÊŸÊ ¡ÊÿªÊ–

5. Candidate will not be allowed to take away Question Booklet rather they will submit it to the Invigilator alongwith the OMR
Answer Sheet.

¬⁄UËˇÊÊÕË¸ ∑§Ê ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ‹ ¡ÊŸ ∑§Ë •ŸÈ◊ÁÃ Ÿ„Ë¥ „Ò, ’ÁÀ∑§ ß‚ OMR ©ûÊ⁄U-¬òÊ ‚Á„Ã ÁŸ⁄UËˇÊ∑§ ∑§Ê ‚ÊÒ¥¬ŸÊ „ÊªÊ–
6. Candidates will be allowed to carry the duplicate/carbon copy of the OMR Answer-Sheet.

¬⁄UËˇÊÊÕË¸ ∑§Ê OMR ©ûÊ⁄U-¬òÊ ∑§Ë «ÈUÁå‹∑§≈U/∑§Ê’¸Ÿ ∑§ÊÚ¬Ë •¬Ÿ ‚ÊÕ ‹ ¡ÊŸ ∑§Ë •ŸÈ◊ÁÃ „ÊªË–
7. Open your Test-Booklet seal, only when asked to do so.  Contravention of this attracts disqualification.

•èÿÕȨ̈ ∑§Ê ¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê ‚Ë‹ ¡’ ∑§„Ê ¡Ê∞, Ã’ „Ë πÊ‹ŸË „Ò–  ß‚ ÁŸŒ‡̧Ê ∑§Ê ©À‹¥ÉÊŸ ∑§⁄UŸ ¬⁄U •èÿÕȨ̈ ∑§Ê •ÿÊÇÿ ∑§⁄UÊ⁄U ÁŒÿÊ ¡Ê ‚∑§ÃÊ „Ò–
8. You have to fill the boxes and shade the circle for your Roll Number and Booklet Series in the boxes because this information is essential

for evaluation of the Answer-Sheet.

•Ê¬ •¬ŸÊ •ŸÈ∑˝§◊Ê¥∑§ •ÊÒ⁄U ¬ÈÁSÃ∑§Ê oÎ¥π‹Ê ∑§Ê •fl‡ÿ ÷⁄¥U •ÊÒ⁄U flÎûÊ ∑§Ê ∑§Ê‹Ê ∑§⁄¥U, ÄÿÊ¥Á∑§ ÿ„ ¡ÊŸ∑§Ê⁄UË ©ûÊ⁄U-¬òÊ ∑§ ◊ÍÀÿÊ¥∑§Ÿ ∑§ Á‹∞ •Êfl‡ÿ∑§ „Ò–
9. Completely darken the CIRCLE so that the letter/number inside the CIRCLE is not visible.

flÎûÊ ∑§Ê ß‚ Ã⁄U„ ∑§Ê‹Ê ∑§⁄¥U Á∑§ flÎûÊ ◊¥ Á‹πÊ •ˇÊ⁄U/Ÿê’⁄U ÁŒπÊß¸ Ÿ Œ¥–
10. Darken only ONE CIRCLE for each answer as shown in the example below.  If you darken more than one CIRCLE, your answer will be

treated as wrong.

ŸËø ©ŒÊ„⁄UáÊ ◊¥ Œ‡ÊȨ̂ÿ •ŸÈ‚Ê⁄U, ¬̋àÿ∑§ ¬̋‡Ÿ ∑§ Á‹∞ ∑§fl‹ ∞∑§ „Ë flÎûÊ ∑§Ê ∑§Ê‹Ê ∑§⁄¥U–  ∞∑§ ‚ •Áœ∑§ flÎûÊ ∑§Ê ∑§Ê‹Ê ∑§⁄UŸ ¬⁄U •Ê¬∑§Ê ©ûÊ⁄U ª‹Ã ◊ÊŸÊ ¡Ê∞ªÊ–
Wrong Method/ª‹Ã ÁflÁœ — Correct Method/‚„Ë ÁflÁœ — 

11. Signature of Invigilator will be done after all the entries are made by the candidate.

¬Á⁄UflˇÊ∑§ ¬⁄UËˇÊÊÕË¸ mÊ⁄UÊ ∑§Ë ªß¸ ‚÷Ë ¬˝ÁflÁc≈UÿÊ¥ ∑§ ©¬⁄UÊãÃ „Ë „SÃÊˇÊ⁄U ∑§⁄¥U–
12. Before beginning to answer the questions please make sure that all the entries in your Answer-Sheet have been duly completed.  Any

carelessness in this regard may jeopardize your chances of selection.

¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒŸ ‚ ¬„‹ ‚ÈÁŸÁ‡øÃ ∑§⁄U ‹ËÁ¡∞ Á∑§ •Ê¬Ÿ ©ûÊ⁄U-¬Îc∆U ◊¥ ‚÷Ë ¬˝ÁflÁc≈UÿÊ° ÁŸŒ¸‡ÊÊŸÈ‚Ê⁄U ∆UË∑§ ¬˝∑§Ê⁄U ÷⁄U ŒË „Ò¥–  ßŸ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë ‹Ê¬⁄UflÊ„Ë ‚
•Ê¬∑§ øÿŸ ◊¥ ’ÊœÊ ¬«∏ ‚∑§ÃË „Ò–

13. Do not spend time on reading all the questions before beginning to answer them.  Try answering the questions one by one and
wherever you are not sure of the answer, pass on to the next question.  Time permitting, you may again tray the left out questions
after completing the whole test.

©ûÊ⁄U ŒŸÊ •Ê⁄Uê÷ ∑§⁄UŸ ‚ ¬Ífl¸ ¬Í⁄UÊ ¬˝‡Ÿ-¬òÊ ¬…∏Ÿ ∑§Ê ¬˝ÿÊ‚ Ÿ ∑§ËÁ¡∞–  Á∑§‚Ë ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U Ÿ •ÊŸ ¬⁄U •ª‹Ê ¬˝‡Ÿ ∑§ËÁ¡∞–  ¬Í⁄UÊ ¬˝‡Ÿ-¬òÊ ∑§⁄UŸ ∑§
’ÊŒ ‚◊ÿ ⁄U„Ÿ ¬⁄U •Ê¬ ¿ÍU≈U „È∞ ¬˝‡Ÿ ¬ÈŸ— ∑§⁄U ‚∑§Ã „Ò¥–

14. Do not talk to or consult with other candidates.  This will lead to disqualification.

•Ê¬‚ ◊¥ ’ÊÃ¥ •ÕflÊ ÁfløÊ⁄U-Áfl◊‡Ê¸ Ÿ ∑§⁄¥U–  •ãÿÕÊ •Ê¬∑§Ë ©ê◊ËŒflÊ⁄UË ‚◊ÊåÃ ∑§⁄U ŒË ¡Ê∞ªË–
15. Do not carry any electronic gadgets or cell phone during the test.  Possession of any such equipment or cell phone will lead to disqualification

of the candidate from the examination.

¬⁄UËˇÊÊ  ∑§ ŒÊÒ⁄UÊŸ Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ë ß‹Ä≈˛UÊÚÁŸ∑§ ªÒÁ$¡≈U (gadgets) •ÕflÊ ‚‹ »§ÊŸ ‹ ¡ÊŸÊ ◊ŸÊ „Ò–  ∞‚Ë Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ë ‚ÊœŸ (equipment) •ÕflÊ ‚‹
»§ÊŸ ¬Ê‚ ⁄UπŸ ¬⁄U ©ê◊ËŒflÊ⁄U ∑§Ê •ÿÊÇÿ ∑§⁄UÊ⁄U ÁŒÿÊ ¡ÊÿªÊ–

16. Use of unfair means during the examination will lead to disqualification of the candidate.

¬⁄UËˇÊÊ ∑§ ŒÊÒ⁄UÊŸ •ŸÈÁøÃ ‚ÊœŸ ∑§Ê ¬˝ÿÊª ∑§⁄UŸ ¬⁄U ©ê◊ËŒflÊ⁄U ∑§Ê •ÿÊÇÿ ∑§⁄UÊ⁄U ÁŒÿÊ ¡ÊÿªÊ–
17. In case of variation of any kind in the English and Hindi version of any question(s), the English version will be considered as final.

Á∑§‚Ë ÷Ë ¬˝‡Ÿ (¬˝‡ŸÊ¥) ∑§ •¥ª˝$¡Ë ∞fl¥ Á„ãŒË flÎûÊÊãÃ ◊¥ Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ê •¥Ã⁄U „ÊŸ ¬⁄U •¥ª˝$¡Ë flÎûÊÊãÃ ∑§Ê ÁŸáÊÊ¸ÿ∑§ ◊ÊŸÊ ¡Ê∞ªÊ–

A
Booklet Series

¬ÈÁSÃ∑§Ê oÎ¥π‹Ê

Question-Booklet Number

¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ∑˝§◊Ê¥∑§



[2]A

1. Which word does NOT belong with the others ?

(A) excite (B) flourish (C) prosper (D) thrive

∑§ÊÒŸ ‚Ê ‡ÊéŒ •ãÿ ‚ •‹ª „Ò?

(A) ∞Ä‚Êß¸≈U (B) ç‹⁄UË‡Ê (C) ¬˝ÊS¬⁄U (D) Õ˝Êßfl

2. How many even numbers are there between 100 and 200 (excluding 100 and 200) ?

100 ÃÕÊ 200 (100 ÃÕÊ 200 ∑§Ê ¿UÊ«∏∑§⁄U) ∑§ ◊äÿ Á∑§ÃŸË ‚◊ ‚¥ÅÿÊ∞° „Ò¥?

(A) 48 (B) 49 (C) 50 (D) 51

3. A and B are two stations. A train goes from A to B, at 64 km/hr and returns to A at a slower
speed. If its average speed for the whole journey is 56 km/hr, at what speed did it return ?

(A) 48 km/hr (B) 49.77 km/hr (C) 50 km/hr (D) 52 km/h

A ÃÕÊ B ŒÊ S≈U‡ÊŸ „Ò¥–  A ‚ ∑§Êß¸ ≈˛UŸ 64 Á∑§.◊Ë./ÉÊ¥≈UÊ ∑§Ë Œ⁄U ‚ S≈U‡ÊŸ B Ã∑§ ¡ÊÃË „Ò •ÊÒ⁄U flÊ¬‚ S≈U‡ÊŸ A œË◊Ë
ªÁÃ ‚ •ÊÃË „Ò–  ÿÁŒ ‚ê¬ÍáÊ¸ ÿÊòÊÊ ∑§Ë •ÊÒ‚Ã øÊ‹ 56 Á∑§.◊Ë./ÉÊ¥≈UÊ „Ò, ÃÊ ÿ„ Á∑§‚ øÊ‹ ‚ flÊ¬‚ A ∑§Ë •Ê⁄U •ÊÿË
„ÊªË?

(A) 48 Á∑§.◊Ë./ÉÊ¥≈UÊ (B) 49.77 Á∑§.◊Ë./ÉÊ¥≈UÊ (C) 50 Á∑§.◊Ë./ÉÊ¥≈UÊ (D) 52 Á∑§.◊Ë./ÉÊ¥≈UÊ

4. If the area of a square is 529 cm2, its side measures :

ÿÁŒ Á∑§‚Ë flª¸ ∑§Ê ˇÊòÊ»§‹ 529 ‚◊Ë.2 „Ê, ÃÊ ß‚∑§ ÷È¡Ê ∑§Ë ◊Ê¬ „ÊªË —

(A) 33 (B) 27 (C) 23 (D) 37

5. In a family, average age of children is 15 and average age of parents is 45.  Find the average
age of the entire family.

Á∑§‚Ë ¬Á⁄UflÊ⁄U ◊¥ ’ëøÊ¥ ∑§Ë •ÊÒ‚Ã •ÊÿÈ 15 fl·¸ ÃÕÊ ◊ÊÃÊ-Á¬ÃÊ ∑§Ë •ÊÒ‚Ã •ÊÿÈ 45 „Ò–  ‚ê¬ÍáÊ¸ ¬Á⁄UflÊ⁄U ∑§Ë •ÊÒ‚Ã
•ÊÿÈ ôÊÊÃ ∑§ËÁ¡∞–

(A) 25 (B) 28 (C) 30 (D) 35

6. Choose the figure which is different from the rest.

∞∑§ ∞‚ ÁøòÊ ∑§Ê øÿŸ ∑§ËÁ¡∞ ¡Ê •ãÿ ‚ Á÷ãŸ „Ò–

      (1)          (2)         (3)         (4)         (5)

(A) (1) (B) (2) (C) (3) (D) (4)



[3] A

For Questions 7 to 9 :

Six friends P, Q, R, S, T and U are sitting around the hexagonal table each at one corner and are
facing the centre of the hexagonal. P is second to the left of U. Q is neighbour of R and S. T is
second to the left of S.

ÁŸŒ¸‡Ê — ¬˝‡Ÿ 7 ‚ 9 :

P, Q, R, S, T •ÊÒ⁄U U ¿U— ŒÊSÃ „Ò¥ fl Á∑§‚Ë ·≈˜U∑§ÊáÊËÿ ≈U’‹ ∑§ ¬˝àÿ∑§ ∑§ÊáÊ ◊¥ ≈U’‹ ∑§ ∑§ãŒ˝ ∑§Ë •Ê⁄U ◊Èπ ∑§⁄U∑§ ’Ò∆U „¥Ò–
P, U ∑§ ’Ê¥ÿ¥ ŒÍ‚⁄U SÕÊŸ ¬⁄U „Ò–  Q, R ÃÕÊ S ∑§Ê ¬«∏Ê‚Ë „Ò ÃÕÊ T, S ∑§ ’Êÿ¥ ŒÍ‚⁄U SÕÊŸ ¬⁄U „Ò–

7. Which one is sitting opposite to T ?

(A) R (B) Q

(C) Cannot be determined (D) S

T ∑§ ‚ê◊Èπ ∑§ÊÒŸ ’Ò∆UÊ „Ò?

(A) R (B) Q

(C) ÁŸœÊ¸Á⁄UÃ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ (D) S

8. Which of the following are the neighbours of P ?

(A) U and P (B) T and R (C) U and R (D) Data inadequate

P ∑§Ê ¬«∏Ê‚Ë ∑§ÊÒŸ-∑§ÊÒŸ „Ò?

(A) U •ÊÒ⁄U P (B) T •ÊÒ⁄U R (C) U •ÊÒ⁄U R (D) •Ê°∑§«∏ •¬ÿÊ¸åÃ „Ò

9. Which one is sitting opposite to P ?

P ∑§ ‚ê◊Èπ ∑§ÊÒŸ ’Ò∆UÊ „Ò?

(A) R (B) Q (C) T (D) S

10. A fort accommodating 60 men has food reserve for 28 days. 8 days later, reinforcements
arrive leaving the number of days the food would last to 15 days. What was the strength of
the reinforcement ?

∞∑§ Á∑§‹ ◊¥ 60 •ÊŒ◊Ë „Ò¥ Á¡‚◊¥ 28 ÁŒŸÊ¥ ∑§ Á‹∞ πÊl ‚Ê◊ª˝Ë ©¬‹éœ „Ò–  8 ÁŒŸÊ¥ ∑§ ’ÊŒ •ÊŒÁ◊ÿÊ¥ ∑§Ë ‚¥ÅÿÊ ◊¥
flÎÁh ∑§Ë ¡ÊÃË „Ò Á¡‚∑§ ∑§Ê⁄UáÊ πÊl ¬ŒÊÕÊZ ∑§Ë ©¬‹éœÃÊ •’ ∑§fl‹ 15 ÁŒŸÊ¥ ∑§Ë ⁄U„ ¡ÊÃË „Ò–  flÎÁh ∑§Ë ªß¸
•ÊŒÁ◊ÿÊ¥ ∑§Ë ‚¥ÅÿÊ ôÊÊÃ ∑§ËÁ¡∞–

(A) 20 (B) 21 (C) 22 (D) 23

11. If the volume of a cube is 1728 cubic cm, its edge measures :

ÿÁŒ Á∑§‚Ë ÉÊŸ ∑§Ê •ÊÿÃŸ 1728 ÉÊŸ ‚.◊Ë. „Ò ÃÊ ß‚∑§ Á∑§ŸÊ⁄UÊ¥ ∑§Ê ◊Ê¬ „Ò —

(A) 14 (B) 24 (C) 12 (D) 18



[4]A

12. If M×N means M is the daughter of N; M+N means M is the father of N; M % N means M

is the mother of N and M−N means M is the brother of N then P% Q+ R−T×K indicates
which relation of P to K ?

(A) Daughter-in-law (B) Sister-in-law (C) Aunt (D) None of these

ÿÁŒ M×N ∑§Ê •Õ¸ „Ò; M, N ∑§Ë ¬ÈòÊË „Ò–  M+N ∑§Ê •Õ¸ „Ò; M, N ∑§Ê Á¬ÃÊ „Ò–  M % N ∑§Ê •Õ¸ „Ò; M, N ∑§Ë
◊Ê° „Ò ÃÕÊ  M−N ∑§Ê •Õ¸ „Ò; M, N ∑§Ê ÷Êß¸ „Ò–  ÃÊ P% Q+R−T×K, ÃÊ P ∑§Ê K ‚ ÄÿÊ ‚¥’¥œ „Ò?

(A) ’„È (B) ‚Ê‹Ë (C) øÊøË (D) ßŸ◊¥ ‚ ∑§Êß¸ ÷Ë Ÿ„Ë¥

13. The highest civilian honor awarded in India is :

(A) Padma Bhushan (B) Padma Vibhushan

(C) Paramvir Chakra (D) Bharat Ratna

÷Ê⁄UÃ ◊¥¥ ‚flÊ¸ëø ŸÊªÁ⁄U∑§ ‚ê◊ÊŸ ¬È⁄US∑§Ê⁄U ∑§ÊÒŸ-‚Ê „Ò?

(A) ¬k ÷Í·áÊ (B) ¬k Áfl÷Í·áÊ

(C) ¬⁄U◊flË⁄U ø∑˝§ (D) ÷Ê⁄UÃ ⁄UàŸ

14. Pointing towards a girl, Abhisek says, “This girl is the daughter of only a child of my father.”
What is the relation of Abhisek’s wife to that girl ?

(A) Daughter (B) Mother (C) Aunt (D) Sister

∞∑§ ‹«∏∑§Ë ∑§Ë •Ê⁄U ß‡ÊÊ⁄UÊ ∑§⁄U∑§ •Á÷·∑§ Ÿ ∑§„Ê, ““Á∑§ ÿ„ ‹«∏∑§Ë ◊⁄U Á¬ÃÊ ∑§Ë ∞∑§‹ÊÒÃË ‚¥ÃÊŸ ∑§Ë ¬ÈòÊË „Ò–””
•Á÷·∑§ ∑§Ë ¬ÁàŸ ∑§Ê ©‚ ‹«∏∑§Ë ‚ ÄÿÊ ‚¥’¥œ „Ò?

(A) ¬ÈòÊË (B) ◊Ê° (C) øÊøË (D) ’„Ÿ

15. Palk Strait is between which countries ?

(A) India - Pakistan (B) India - China

(C) India - Myanmar (D) India - Sri Lanka

Á∑§Ÿ Œ‡ÊÊ¥ ∑§ ◊äÿ ¬ÊÀ∑§ S≈Ò˛U≈U „Ò?

(A) ÷Ê⁄UÃ - ¬ÊÁ∑§SÃÊŸ (B) ÷Ê⁄UÃ - øËŸ

(C) ÷Ê⁄UÃ - êÿÊã◊Ê⁄U (D) ÷Ê⁄UÃ - üÊË‹¥∑§Ê

16. Name the largest bird in India.

(A) Sarus crane (B) Peacock

(C) Flamingo (D) None of the above

÷Ê⁄UÃ ∑§ ‚’‚ ’«∏ ¬ˇÊË ∑§Ê ŸÊ◊ „Ò —

(A) ‚Ê⁄U‚ ∑˝§Ÿ (B) ¬Ë∑§ÊÚ∑§

(C) ç‹ÒÁ◊¥ªÊ (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥
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17. The circumference of two circles is in ratio of 1 : 3. Their areas are in ratio of :

ŒÊ flÎûÊÊ¥ ∑§Ë ¬Á⁄UÁœÿÊ¥ ∑§Ê •ŸÈ¬ÊÃ 1 : 3 „Ò–  ©Ÿ∑§ ˇÊòÊ»§‹ ∑§Ê •ŸÈ¬ÊÃ „Ò —

(A) 6 : 7 (B) 4 : 9 (C) 1 : 9 (D) 1 : 8

18. Diamond is an allotropic form of :

(A) germanium (B) carbon (C) silicon (D)  sulphur

„Ë⁄UÊ Á∑§‚∑§Ê ∞‹Ê≈˛UÊÚÁ¬∑§ M§¬ „Ò?

(A) ¡◊¸ÁŸÿ◊ (B) ∑§Ê’¸Ÿ (C) Á‚Á‹∑§ÊÚŸ (D)  ‚À»§⁄U

19. Name the capital of Vietnam :

(A) Ho Chi Minh (B) Hanoi (C) Bangkok (D) Kuala Lumpur

ÁflÿÃŸÊ◊ ∑§Ë ⁄UÊ¡œÊŸË „Ò —

(A) „Ê øË Á◊ã„ (B) „ŸÊß¸ (C) ’Ò¥ª∑§ÊÚ∑§ (D) ∑È§•Ê‹Ê ‹ê¬È⁄U

20. Choose the alternative which is closely resembles the mirror image of the given combination.

ÁŸêŸ ÁŒ∞ ª∞ •ˇÊ⁄U ‚¥ÿÊ¡Ÿ ∑§ Œ¬¸áÊ ¬˝ÁÃÁ’¥’ ‚ ‚ÊŒÎ‡ÿÃÊ ⁄UπŸ flÊ‹ ÁøòÊ ∑§Ê ÁŸêŸ Áfl∑§À¬ ‚ øÈÁŸ∞–

(1) (2) (3) (4)

(A) (1) (B) (2) (C) (3) (D) (4)

21. Who is the author of “Hamlet” ?

(A) William Shakespeare (B) Charles Dickens

(C) Roger Charles (D) Jane Austen

““„Ò◊‹≈U”” ∑§ ‹π∑§ ∑§ÊÒŸ „Ò¥?

(A) ÁflÁ‹ÿ◊ ‡ÊÄ‚¬Ëÿ⁄U (B) øÊÀ‚¸ Á«U∑§ã‚

(C) ⁄UÊ¡⁄U øÊÀ‚¸ (D) ¡Ÿ •ÊÁS≈UŸ

22. Choose the synonym (same meaning) of timid :

Timid ∑§Ê ‚◊ÊŸÊÕ¸∑§ ‡ÊéŒ ôÊÊÃ ∑§ËÁ¡∞ —

(A) Fast (B) Slow (C) Medium (D) Shy
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23. Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

ÁŸêŸ øÊ⁄U Áfl∑§À¬Ê¥ ‚ ÁøòÊ (X) ∑§Ê ‚„Ë Œ¬¸áÊ ¬˝ÁÃÁ’ê’ ôÊÊÃ ∑§ËÁ¡∞–

        (X)     (1)            (2)               (3)              (4)

(A) (1) (B) (2) (C) (3) (D) (4)

24. Largest tea producer in India :

(A) Kerala (B) Assam (C) Tamil Nadu (D) Karnataka

÷Ê⁄UÃ ◊¥ ‚flÊ¸Áœ∑§ øÊÿ ©à¬ÊŒ∑§ —

(A) ∑§⁄U‹ (B) •‚◊ (C) ÃÁ◊‹ŸÊ«È (D) ∑§ŸÊ¸≈U∑§

25. Complete : 7, 11, 13, 17, 19,      ?     .

¬Í⁄UÊ ∑§ËÁ¡∞ — 7, 11, 13, 17, 19,      ?     .

(A) 21 (B) 29 (C) 23 (D) 31

26. The place inside the temple where the deity was placed is known as :

(A) Garbagriha (B) Shikhara

(C) Mandapa (D) None of the above

◊¥ÁŒ⁄U ∑§Ê fl„ ÷ËÃ⁄UË ÷Êª ¡„Ê° ŒflË-ŒflÃÊ•Ê¥ ∑§Ê SÕÊÁ¬Ã Á∑§ÿÊ ¡ÊÃÊ „Ò ∑§„‹ÊÃÊ „Ò —

(A) ª÷¸ªÎ„ (B) Á‡Êπ⁄U

(C) ◊¥«U¬ (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥

27. How many rectangles are there in the given figure.

ÁŒÿ ªÿ ÁøòÊ ◊¥ Á∑§ÃŸ •ÊÿÃ „Ò¥?

(A) 10 (B) 9 (C) 8 (D) 7
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28. If A covers 20 km in 1 hour and 30 km in 4 hours, the average speed of his entire journey
is :

(A) 20 km/h (B) 30 km/h (C) 25 km/h (D) 10 km/h

ÿÁŒ A, 1 ÉÊ¥≈U ◊¥ 20 Á∑§.◊Ë. ∑§Ë ŒÍ⁄UË Ãÿ ∑§⁄UÃÊ „Ò ÃÕÊ 4 ÉÊ¥≈UÊ¥ ◊¥ 30 Á∑§.◊Ë. ÃÊ ‚ê¬ÍáÊ¸ ÿÊòÊÊ ∑§Ë •ÊÒ‚Ã øÊ‹ „ÊªË —

(A) 20 Á∑§.◊Ë./ÉÊ¥≈UÊ (B) 30 Á∑§.◊Ë./ÉÊ¥≈UÊ (C) 25 Á∑§.◊Ë./ÉÊ¥≈UÊ (D) 10 Á∑§.◊Ë./ÉÊ¥≈UÊ

29. Which line divides India and Pakistan ?

(A) McMahon Line (B) Radcliffe Line (C) Durand Line (D) Hudson Line

÷Ê⁄UÃ ÃÕÊ ¬ÊÁ∑§SÃÊŸ ∑§Ê ∑§ÊÒŸ-‚Ë ⁄UπÊ Áfl÷ÊÁ¡Ã ∑§⁄UÃË „Ò?

(A) ◊Ò∑§◊„ÊŸ ⁄UπÊ (B) ⁄ÒU«UÄ‹Ë»§ ⁄UπÊ (C) «ÈU⁄UÊ¥«U ⁄UπÊ (D) „Í«U‚Ÿ ⁄UπÊ

30. Which of the following is a direct tax ?

(A) Income tax (B) GST

(C) Entertainment tax (D) None of the above

ÁŸêŸ ◊¥ ∑§ÊÒŸ-‚Ê ¬˝àÿˇÊ ∑§⁄U „Ò?

(A) •Êÿ∑§⁄U (B) ¡Ë.∞‚.≈UË.

(C) ◊ŸÊ⁄¥U¡Ÿ ∑§⁄U (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥

31. Match the following :

GI Tag Product State

(a) Blue Pottery (i) Goa

(b) Sandal Soap (ii) UP

(c) Feni (iii) Karnataka

(d) Khurja Pottery (iv) Rajasthan

ÁŸêŸ ∑§Ê ‚È◊Á‹Ã ∑§ËÁ¡∞–

¡Ë.•Êß¸. ≈ÒUª ©à¬ÊŒ  ⁄UÊíÿ

(a) ŸË‹Ê ◊ÎŒ˜÷Ê¥«U (i)  ªÊflÊ

(b) øãŒŸ ‚Ê’ÈŸ (ii)  ©ûÊ⁄U ¬˝Œ‡Ê

(c) »§ÁŸ (iii)  ∑§ŸÊ¸≈U∑§

(d) πÈ¡Ê¸ ◊ÎŒ˜÷Ê¥«U (iv)  ⁄UÊ¡SÕÊŸ
(a) (b) (c) (d)

(A) (iv) (ii) (i) (iii)

(B) (iv) (iii) (i) (ii)

(C) (ii) (iii) (i) (iv)

(D) (i) (ii) (iii) (iv)
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32. Where will the Men’s Hockey World Cup 2018 be held ?

(A) Sydney, Australia (B) Odisha, India

(C) Kuala Lumpur, Malaysia (D) Dubai, UAE

¬ÈL§· „ÊÚ∑§Ë Áfl‡fl ∑§¬ 2018 ∑§„Ê° •ÊÿÊÁ¡Ã „ÊªÊ?

(A) Á‚«UŸË, •ÊÚS≈˛UÁ‹ÿÊ (B) •ÊÁ«U‡ÊÊ, ÷Ê⁄UÃ

(C) ∑È§•Ê‹Ê ‹ê¬È⁄U, ◊‹Á‡ÊÿÊ (D) ŒÈ’ß¸, ÿÍ.∞.ß¸.

33. Identify the figure that completes the pattern.

©‚ ÁøòÊ ∑§Ê ¬„øÊŸ ∑§ËÁ¡∞ ¡Ê ¬˝ÁÃ◊ÊŸ ∑§Ê ¬Í⁄UÊ ∑§⁄UªÊ–

.

        (X)         (1)                    (2)                   (3)                    (4)

(A) (1) (B) (2) (C) (3) (D) (4)

34. If A+B − 4=2 and A+B+2=8, find A and B.

ÿÁŒ A+B − 4=2 ÃÕÊ A+B+2=8 ÃÊ A ÃÕÊ B ôÊÊÃ ∑§ËÁ¡∞–

(A) A=4, B=1 (B) A=6, B=2

(C) A=4, B=2 (D) A=2, B=1

35. If the day before yesterday was Tuesday, when will Saturday be ?

(A) Tomorrow

(B) Yesterday

(C) Day after Tomorrow

(D) Day after Yesterday

ÿÁŒ ¬⁄U‚Ê (Á’Ã ÁŒŸ ∑§ ∆UË∑§ ¬„‹ ∑§Ê ÁŒŸ) ◊¥ª‹flÊ⁄U ÕÊ Ã’ ‡ÊÁŸflÊ⁄U ∑§’ „ÊªÊ?

(A) ∑§‹ (•ÊŸflÊ‹Ê)

(B) ∑§‹ (’ËÃ ÁŒŸ)

(C) ¬⁄U‚Ê (•ÊŸflÊ‹ ÁŒŸ ∑§ ∆UË∑§ ’ÊŒ ∑§Ê ÁŒŸ)

(D) ¬⁄U‚Ê (’ËÃ ÁŒŸ ∑§ ∆UË∑§ ’ÊŒ ∑§Ê ÁŒŸ)
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36. Maitree is the military exercise between India and __________.

(A) Thailand (B) Myanmar (C) USA (D) Japan

◊ÒòÊË ∞∑§ ‚ÒÁŸ∑§ •èÿÊ‚ „Ò ¡Ê ÷Ê⁄UÃ •ÊÒ⁄U __________ ∑§ ’Ëø „ÊÃÊ „Ò–

(A) ÕÊß¸‹Ò¥«U (B) êÿÊã◊Ê⁄U (C) ÿÍ.∞‚.∞. (D) ¡Ê¬ÊŸ

37. Air is a/an :

(A) compound (B) element (C) electrolyte (D) mixture

flÊÿÈ „Ò ∞∑§ —

(A) ÿÊÒÁª∑§ (B) •flÿfl (C) ß‹ÒÄ≈˛UÊ‹Êß≈U (D) Á◊üÊáÊ

38. A bacterial population has the property to double every year. It is covering the entire lake
after 20 years. When was the lake half filled with bacteria ?

(A) 18 years (B) 10 years (C) 9 years (D) 19 years

Á∑§‚Ë ’ÒÄ≈UËÁ⁄UÿÊ ∑§Ë •Ê’ÊŒË ¬˝àÿ∑§ fl·¸ ŒÊªÈáÊË „ÊÃË „Ò–  ÿÁŒ 20 fl·ÊZ ◊¥ ßŸ∑§Ë •Ê’ÊŒË ‚ê¬ÍáÊ¸ ¤ÊË‹ ∑§Ê …°U∑§ ‹ÃË
„Ò, ÃÊ ôÊÊÃ ∑§ËÁ¡∞ Á∑§ ßŸ∑§Ë ’…∏ÃË •Ê’ÊŒË ‚ •ÊœË ¤ÊË‹ …°U∑§Ë ∑§’ „ÊªË?

(A) 18 fl·¸ (B) 10 fl·¸ (C) 9 fl·¸ (D) 19 fl·¸

39. Kandariya Mahadev Temple is located in :

(A) Mandu (B) Puri (C) Khajuraho (D) Ranchi

∑¥§Œ⁄UËÿ ◊„ÊŒfl ◊¥ÁŒ⁄U __________ ◊¥ ÁSÕÃ „Ò–

(A) ◊Ê¥«ÈU (B) ¬Í⁄UË (C) π¡È⁄UÊ„Ê (D) ⁄UÊ°øË

40. Who is the founder of Microsoft ?

(A) Steve Jobs (B) Warren Buffet

(C) Bill Gates (D) None of the above

◊Êß∑˝§Ê‚ÊÚç≈U ∑§ ‚¥SÕÊ¬∑§ ∑§ÊÒŸ „Ò¥?

(A) S≈UËfl ¡ÊÚé‚ (B) flÊ⁄UŸ ’Íç»§

(C) Á’‹ ª≈U˜‚ (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥
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41. Which of the following constitutes a Nuclear Triad for carrying nuclear weapons ?

(A) Aircrafts (B) Land-based ballistic missiles

(C) Submarine (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ∑§ÊÒŸ-‚Ê ãÿÍÁÄ‹ÿ⁄U ≈˛UÊÿ«U ∑§Ê ª∆UŸ ãÿÍÁÄ‹ÿ⁄U ‡ÊSòÊ ‹ ¡ÊŸ ∑§ Á‹ÿ ∑§⁄UÃÊ „Ò?

(A) ∞ÿ⁄U∑˝§Êç≈U (B) ÷Í-•ÊœÊÁ⁄UÃ ’ÒÁ‹ÁS≈U∑§ Á◊‚Êß‹

(C) ¬Ÿ«ÈUé’Ë (D) ©¬⁄UÊÄÃ ‚÷Ë

42. Where is the International Film Festival of India held ?

(A) Maharashtra (B) Karnataka (C) Telangana (D) Goa

÷Ê⁄UÃ ∑§Ê •¥Ã⁄UÊ¸c≈˛UËÿ Á»§À◊ ©à‚fl ∑§„Ê° •ÊÿÊÁ¡Ã Á∑§ÿÊ ªÿÊ?

(A) ◊„Ê⁄UÊc≈˛U (B) ∑§ŸÊ¸≈U∑§ (C) Ã‹¥ªÊŸÊ (D) ªÊflÊ

43. Name the mobile application developed by National Payments Corporation of India for sending
and receiving money.

(A) PhonePe (B) BHIM

(C) Paytm (D) None of the above

◊ÈŒ˝Ê ÷¡Ÿ ÃÕÊ ¬˝ÊåÃ ∑§⁄UŸ ∑§ Á‹∞ ÷Ê⁄UÃ ∑§ ŸÒ‡ÊŸ‹ ¬◊ã≈‚U˜ ∑§Ê¬Ê¸⁄U‡ÊŸ mÊ⁄UÊ Áfl∑§Á‚Ã ◊Ê’Êß‹ ∞å‹Ë∑§‡ÊŸ ∑§Ê ŸÊ◊
’ÃÊß∞–

(A) »§ÊŸ¬ (B) ÷Ë◊

(C) ¬≈UË∞◊ (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥

44. Who appoints a High Court Judge ?

(A) President with the advice of CJI

(B) President with advice of PM

(C) Law Minister

(D) CJI

©ëø ãÿÊÿÊ‹ÿ ∑§ ãÿÊÿÊœË‡Ê ∑§Ê ∑§ÊÒŸ ÁŸÿÈÄÃ ∑§⁄UÃÊ „Ò?

(A) ÷Ê⁄UÃ ∑§ ◊ÈÅÿ ãÿÊÿÊœË‡Ê ∑§ ‚‹Ê„ ¬⁄U ⁄UÊc≈˛U¬ÁÃ

(B) ¬˝œÊŸ◊¥òÊË ∑§Ë ‚‹Ê„ ¬⁄U ⁄UÊc≈˛U¬ÁÃ

(C) ∑§ÊŸÍŸ ◊¥òÊË

(D) ÷Ê⁄UÃ ∑§ ◊ÈÅÿ ãÿÊÿÊœË‡Ê
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45. How many High Courts are there in India ?

÷Ê⁄UÃ ◊¥ Á∑§ÃŸ ©ëø ãÿÊÿÊ‹ÿ „Ò¥?

(A) 20 (B) 30 (C) 24 (D) 26

46. Which of these is a search engine ?

(A) FTP (B) Google (C) Archie (D) ARPANET

ßŸ◊¥ ‚ ∑§ÊÒŸ-‚Ê ‚ø¸ ß¥¡Ÿ „Ò?

(A) ∞»§.≈UË.¬Ë. (B) ªÈª‹ (C) •Ê∑§Ê¸ß¸ (D) ARPANET

47. Which of the following was NOT a famous Indian artist ?

(A) Raja Ravi Verma (B) M.F. Hussain

(C) Amrita Shergil (D) Ramesh Dhingra

ÁŸêŸ ◊¥ ∑§ÊÒŸ ∞∑§ ¬˝Á‚h ÷Ê⁄UÃËÿ ∑§‹Ê∑§Ê⁄U Ÿ„Ë¥ „Ò?

(A) ⁄UÊ¡Ê ⁄UÁfl fl◊Ê¸ (B) ∞◊.∞»§. „È‚ÒŸ

(C) •◊ÎÃÊ ‡Ê⁄UÁª‹ (D) ⁄U◊‡Ê Á…¥Uª˝Ê

48. Which of the following states is frequently hit by cyclones ?

(A) Odisha (B) Kerala

(C) Gujarat (D) Jammu and Kashmir

ßŸ◊¥ ‚ Á∑§‚ ⁄UÊíÿ ∑§Ê ’Ê⁄U-’Ê⁄U ø∑˝§flÊÃ ∑§Ê ‚Ê◊ŸÊ ∑§⁄UŸÊ ¬«∏ÃÊ „Ò?

(A) •ÊÁ«‡ÊÊ (B) ∑§⁄U‹

(C) ªÈ¡⁄UÊÃ (D) ¡ê◊Í •ÊÒ⁄U ∑§‡◊Ë⁄U

49. What is the full-form of SHG ?

(A) Solid Heavy Graphite (B) Social Human Growth

(C) Self-Help Group (D) None of the above

SHG ∑§Ê ¬ÍáÊ¸ ÁflSÃÊ⁄U „Ò —

(A) ‚ÊÁ‹«U „ÒflË ª˝»§Êß≈U (B) ‚Ê‡Ê‹ sÍ◊Ÿ ª˝ÊÕ

(C) ‚À»§-„À¬ ª˝È¬ (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥
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50. Select a suitable figure from the Answer Figures that would replace the question mark (?).

©ûÊ⁄U ÁøòÊÊ¥ ‚ ∞∑§ ©¬ÿÈÄÃ ÁøòÊ ∑§Ê øÿŸ ∑§ËÁ¡∞ ¡Ê ¬˝‡Ÿ ÁøòÊ ∑§ ¬˝‡Ÿ Áøq (?) ∑§Ê ¬˝ÁÃSÕÊÁ¬Ã ∑§⁄UªÊ–

Problem Figures /¬˝‡Ÿ ÁøòÊ —  Answer Figures /©ûÊ⁄U ÁøòÊ —

     (A)  (B)       (C)   (D)                        (1)          (2)          (3)         (4)           (5)

(A) (1) (B) (2) (C) (3) (D) (4)

51. Gandhiji did NOT participate in :

(A) Non-cooperation (B) Civil Disobedience

(C) Swadeshi (D) Quit India

ªÊ¥œË¡Ë Ÿ Á∑§‚ •Ê¥ŒÊ‹Ÿ ◊¥ ‚ÊÕ Ÿ„Ë¥ ÁŒÿÊ?

(A) •‚„ÿÊª (B) ŸÊª⁄UË∑§ •flôÊÊ

(C) SflŒ‡ÊË (D) ÷Ê⁄UÃ ¿UÊ«∏Ê

52. Which of the following is the oldest dynasty ?

(A) Maurya (B) Gupta (C) Kushana (D) Sunga

ÁŸêŸ ◊¥ ∑§ÊÒŸ ‚Ê ‚flÊ¸Áœ∑§ ¬È⁄UÊŸÊ ⁄UÊ¡fl¥‡Ê „Ò?

(A) ◊ÊÒÿ¸ (B) ªÈåÃ (C) ∑È§‡ÊÊŸ (D) ‚È¥ª

53. Who was also called Prince Khurram ?

(A) Akbar (B) Jahangir (C) Sikander Lodi (D) Shahjahan

Á∑§‚∑§Ê ⁄UÊ¡∑È§◊Ê⁄U πÈ⁄¸U◊ ∑§ ŸÊ◊ ‚ ÷Ë ¡ÊŸÊ ¡ÊÃÊ „Ò?

(A) •∑§’⁄U (B) ¡„Ê°ªË⁄U (C) Á‚∑¥§Œ⁄U ‹ÊŒË (D) ‡ÊÊ„¡„Ê°

54. Tennis is to Sport as Chemistry is to :

(A) Biology (B) Physics (C) Science (D) Subject

¡Ò‚ ≈ÁŸ‚, S¬Ê≈¸U ∑§ Á‹∞ „Ò flÒ‚Ë „Ë ⁄U‚ÊÿŸ ‡ÊÊSòÊ —

(A) ¡Ëfl-ÁflôÊÊŸ (B) ÷ÊÒÁÃ∑§ ÁflôÊÊŸ (C) ÁflôÊÊŸ (D) Áfl·ÿ

55. Find the sum of the number of sides and number of diagonals of a hexagon.

Á∑§‚Ë ·≈˜U∑§ÊáÊ ∑§Ë ÷È¡Ê•Ê¥ ÃÕÊ Áfl∑§áÊÊZ ∑§Ë ‚¥ÅÿÊ•Ê¥ ∑§Ê ÿÊª»§‹ ôÊÊÃ ∑§ËÁ¡∞–

(A) 30 (B) 15 (C) 7 (D) 9
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56. Who introduced the concept of Satyagraha ?

(A) Buddha (B) Mahatma Gandhi

(C) Mahavira (D) Swami Vivekananda

‚àÿÊª˝„ ∑§Ë •flœÊ⁄UáÊÊ ∑§Ë ‡ÊÈL§•ÊÃ Á∑§‚Ÿ Á∑§ÿÊ?

(A) ’Èh (B) ◊„Êà◊Ê ªÊ¥œË

(C) ◊„ÊflË⁄U (D) SflÊ◊Ë Áflfl∑§ÊŸãŒ

57. First Indian film with sound was :

(A) Raja Harishchandra (B) Alam Ara

(C) Madras Talkies (D) Bhule Bisre Geet

•ÊflÊ¡ flÊ‹Ë ¬„‹Ë ÷Ê⁄UÃËÿ Á»§À◊ —

(A) ⁄UÊ¡Ê „Á⁄U‡øãŒ˝ (B) •Ê‹◊ •Ê⁄UÊ

(C) ◊Œ˝Ê‚ ≈UÊÚÁ∑§¡ (D) ÷Í‹ Á’‚⁄U ªËÃ

58. A fruit seller had some oranges. He sells 30% oranges and still has 140 oranges. Originally,
he had how many oranges ?

Á∑§‚Ë »§‹ Áfl∑˝§ÃÊ ∑§ ¬Ê‚ ∑È§¿U ‚¥Ã⁄U Õ–  ∑È§‹ ∑§Ê 30% ‚¥Ã⁄UÊ ’ø ¡ÊŸ ¬⁄U ©‚∑§ ¬Ê‚ 140 ‚¥Ã⁄UÊ ‡Ê· ⁄U„ÃÊ „Ò–
•Ê⁄¥U÷ ◊¥ ©‚∑§ ¬Ê‚ Á∑§ÃŸ ‚¥Ã⁄U Õ?

(A) 200 (B) 220 (C) 240 (D) 260

59.

      (X)       (Y)      (Z)

Three different positions (X), (Y) and (Z) of a dice are shown in the figures given above.
Which numbers are hidden behind the numbers 6 and 5 in the position (Z) ?

(A) 1 and 4 (B) 1 and 3 (C) 4 and 3 (D) 1 and 2

ÁŒ∞ ª∞ ÁøòÊÊ¥ ◊¥ Á∑§‚Ë ¬Ê‚ ∑§Ë ÃËŸ ÁflÁ÷ÛÊ ÁSÕÁÃÿÊ° (X), (Y) •ÊÒ⁄U (Z) Œ‡ÊÊ¸ÿË ªÿË „Ò¥–  (Z) ∑§Ë ÁSÕÁÃ ◊¥ 6 ÃÕÊ  5
∑§Ë ¬Ë¿U Á¿U¬Ë ‚¥ÅÿÊ∞° „Ê¥ªË —

(A) 1 ÃÕÊ 4 (B) 1 ÃÕÊ 3 (C) 4 ÃÕÊ 3 (D) 1 ÃÕÊ 2
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60. Select a suitable figure from the four alternatives that would complete the figure matrix.

ÁŸêŸ øÊ⁄U Áfl∑§À¬Ê¥ ‚ ∞∑§ ©¬ÿÈÄÃ ÁøòÊ ∑§Ê øÿŸ ∑§ËÁ¡∞ ¡Ê •Ê√ÿÍ„ ÁøòÊ ∑§Ê ¬Í⁄UÊ ∑§⁄UªÊ–

  (1)      (2)     (3)     (4)

(A) (1) (B) (2) (C) (3) (D) (4)

61. Whose achievements are recorded in the Allahabad Pillar inscription ?

(A) Samudragupta (B)  Chandragupta (C) Vikramaditya (D) Skandagupta

ß‹Ê„Ê’ÊŒ SÃ¥÷ ©à∑§ËáÊ¸Ÿ ◊¥ Á∑§Ÿ∑§Ë ©¬‹ÁéœÿÊ¥ ∑§Ê ©À‹π „Ò?

(A) ‚◊ÈŒ˝ªÈåÃ (B) øãŒ˝ªÈåÃ (C) Áfl∑˝§◊ÊÁŒàÿ (D) S∑§¥ŒªÈåÃ

62. TALLY : VOTES : :

(A)    census : population (B)    government : laws

(C)    taxation : revenue (D)    team : athletes

ªáÊŸÊ : ◊ÃŒÊŸ : :

(A)    ¡ŸªáÊŸÊ : ¡Ÿ‚¥ÅÿÊ (B) ‚⁄U∑§Ê⁄U : ∑§ÊŸÍŸ

(C)    ∑§⁄U ÁŸœÊ¸⁄UáÊ : •Êÿ (D) ≈UË◊ : ∞Õ‹≈˜U‚

63. Find out the alternative figure which contains figure (X) as its part.

©‚ flÒ∑§ÁÀ¬∑§ ÁøòÊ ∑§Ê ôÊÊÃ ∑§ËÁ¡∞ Á¡‚◊¥ ÁøòÊ (X) ©‚∑§ ∞∑§ ÷Êª ∑§ M§¬ ◊¥ ¬ÊÿÊ ¡ÊÃÊ „Ò–

(X)                        (1) (2) (3) (4)

(A) (1) (B) (2) (C) (3) (D) (4)
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64. Choose the word which is different from the rest.

(A) Leader (B) Robber (C) Chief (D) Boss

©‚ ‡ÊéŒ ∑§Ê øÿŸ ∑§ËÁ¡∞ ¡Ê •ãÿ ‚ Á÷ãŸ „Ò–

(A) ŸÃÊ (B) ‹Í≈U⁄UÊ (C) ◊ÈÁπÿÊ (Chief) (D) ¬˝œÊŸ (Boss)

65. Act East is a :

(A) Foreign policy (B) Play

(C) Term in economics (D) None of the above

∞Ä≈U ß¸S≈U „Ò ∞∑§ —

(A) ÁflŒ‡Ê ŸËÁÃ (B) π‹

(C) •Õ¸‡ÊÊSòÊ ∑§Ê ∞∑§ ¬Œ (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥

66.

(X)   (1)      (2)       (3) (4)

Choose the box that is similar to the box formed from the given sheet of paper (X).

(A) (1) only (B) (2) only (C) (3) only (D) (4) only

ÁŒ∞ ª∞ ∑§Êª¡ ∑§Ë ‡ÊË≈U (X) ‚ ÁŸÁ◊¸Ã ’ÊÚÄ‚ ∑§ ‚◊M§¬ ’ÊÚÄ‚ ∑§Ê øÿŸ ∑§ËÁ¡∞–

(A) ∑§fl‹ (1) (B) ∑§fl‹ (2) (C) ∑§fl‹ (3) (D) ∑§fl‹ (4)

67. Choose the antonym (opposite) of arrogant :

Arrogant ∑§Ê Áfl¬⁄UËÃÊÕ¸∑§ ‡ÊéŒ ôÊÊÃ ∑§ËÁ¡∞ —

(A) Humble (B) Cowardly (C) Egotistic (D) Gentlemanly
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68. Which initiative was launched with an aim to increase the reach of internet and spread
digital literacy ?

(A) Digi Mela (B) Digi Yatra

(C) Digital India (D) None of the above

ßã≈U⁄UŸ≈U ∑§Ë ¬„È°ø ÃÕÊ Á«U¡Ë≈U‹ ôÊÊŸ ∑§Ê »Ò§‹ÊŸ ∑§ ©g‡ÿ ‚ ∑§Ë ªÿË ¬„‹ „Ò —

(A) Á«U¡Ë ◊‹Ê (B) Á«U¡Ë ÿÊòÊÊ

(C) Á«U¡Ë≈U‹ ß¥Á«UÿÊ (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥

69. Which of the following is NOT a tree found in deciduous forests ?

(A) Sal (B) Shisham (C) Sandalwood (D) Rubber

ßŸ◊¥ ‚ ∑§ÊÒŸ-‚Ê flÎˇÊ, ¬áÊ¸¬ÊÃË flŸÊ¥ ◊¥ Ÿ„Ë¥ ¬ÊÿÊ ¡ÊÃÊ „Ò?

(A) ‚Ê‹ (B) ‡ÊË‡Ê◊ (C) ‚Ò¥«U‹flÈ«U (D) ⁄U’⁄U

70. Atoms are composed of :

(A) Electrons and protons (B) Electrons only

(C) Protons only (D) Electrons and nuclei

¬⁄U◊ÊáÊÈ √ÿflÁSÕÃ „ÊÃ „Ò¥ —

(A) ß‹Ä≈˛UÊÚŸ •ÊÒ⁄U ¬˝Ê≈UÊÚŸ ‚ (B) ∑§fl‹ ß‹Ä≈˛UÊÚŸ ‚

(C) ∑§fl‹ ¬˝Ê≈UÊÚŸ ‚ (D) ß‹Ä≈˛UÊÚŸ ÃÕÊ ãÿÍÁÄ‹•Êß¸ ‚

71. Find  the number of triangles in the given figure.

ÁŒÿ ªÿ ÁøòÊ ◊¥ ÁòÊ÷È¡Ê¥ ∑§Ë ‚¥ÅÿÊ ôÊÊÃ ∑§ËÁ¡∞–

(A) 16 (B) 18 (C) 14 (D) 15

72. Complete : 1, −4, 9, −16, ?

¬Í⁄UÊ ∑§ËÁ¡∞ — 1, −4, 9, −16, ?

(A) 25 (B) −25 (C) 36 (D) −36
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73. The earnings of small company for the year 2017 are given below.  Find the average earning
for 2017.

fl·¸ 2017 ∑§ Á‹∞ Á∑§‚Ë ∞∑§ ¿UÊ≈UË ∑§ê¬ŸË ∑§Ë •Êÿ ∑§Ê ÁŸêŸ ≈U’‹ ◊¥ Œ‡ÊÊ¸ÿË ªÿË „Ò–   fl·¸ 2017 ∑§Ë •ÊÒ‚Ã •Êÿ
ôÊÊÃ ∑§ËÁ¡∞–

Month/◊„ËŸÊ Earnings/•Êÿ
Jan 50,000

Feb 45,000

March 20,000

Apr 30,000

May 25,000

June 20,000

July 20,000

Aug 25,000

Sept 25,000

Oct 30,000

Nov 40,000

Dec 60,000

(A) 30,000 (B) 33,500 (C) 32,500 (D) 35,000

74. A trader mixes 26 kg of rice at ` 20 per kg with 30 kg of rice of other variety at ` 36 per kg
and sells the mixture at ` 30 per kg. His profit percent is :

∑§Êß¸ √ÿÊ¬Ê⁄UË ` 20 ¬˝ÁÃ Á∑§‹Êª˝Ê◊ ∑§Ë Œ⁄U ‚ Á◊‹Ÿ flÊ‹Ë, 26 Á∑§‹Êª˝Ê◊ øÊfl‹ ∑§Ê, ` 36 ¬˝ÁÃ Á∑§‹Êª˝Ê◊ ∑§Ë Œ⁄U ‚
Á◊‹Ÿ flÊ‹Ë 30 Á∑§‹Êª˝Ê◊ øÊfl‹ ∑§ ‚ÊÕ Á◊üÊáÊ ∑§⁄UÃÊ „Ò–  ©‚ Á◊ÁüÊÃ øÊfl‹ ∑§Ê fl„  ` 30 ¬˝ÁÃ Á∑§‹Êª˝Ê◊ ∑§Ë Œ⁄U
‚ ’øÃÊ „Ò–  ©‚∑§Ê ‹Ê÷ ¬˝ÁÃ‡ÊÃ „Ò —
(A) 5 (B) 6 (C) 7 (D) 8

75. Manik walks 4 m towards east then turn to his right and walks 4 m and then turn to his left
and walk 5 m.  Again turning to his left he walks 4 m and stopped.  What is the shortest
distance between the starting point and ending point ?

(A) 10 m (B) 8 m (C) 9 m (D) 1 m

◊ÊÁáÊ∑§ ¬Í⁄U’ ∑§Ë •Ê⁄U 4 ◊Ë. ø‹ÃÊ „Ò–  Á»§⁄U ŒÊÿ¥ ◊È«∏∑§⁄U 4 ◊Ë. ø‹ÃÊ „Ò Á»§⁄U ’Ê¥ÿ¥ ◊È«∏∑§⁄U 5 ◊Ë. ø‹ÃÊ „Ò–  fl„ Á»§⁄U
‚ ’Ê¥ÿ¥ ◊È«∏ÃÊ „Ò •ÊÒ⁄U 4 ◊Ë. ø‹∑§⁄U L§∑§ ¡ÊÃÊ „Ò–  •Ê⁄¥U÷ SÕÊŸ ÃÕÊ ‚◊Ê¬Ÿ SÕÊŸ ∑§ ’Ëø ‚’‚ ¿UÊ≈UË ŒÍ⁄UË Á∑§ÃŸË „Ò?
(A) 10 ◊Ë. (B) 8 ◊Ë. (C) 9 ◊Ë. (D) 1 ◊Ë.

76. World Science Day for Peace and Development :

(A) December 5 (B) November 10 (C) October 15 (D) June 10

‡ÊÊ¥ÁÃ ÃÕÊ Áfl∑§Ê‚ ∑§ Á‹∞ Áfl‡fl ÁflôÊÊŸ ÁŒfl‚ ∑§ÊÒŸ-‚Ê „Ò?
(A) 5 ÁŒ‚ê’⁄U (B) 10 Ÿflê’⁄U (C) 15 •Ä≈ÍU’⁄U (D) 10 ¡ÍŸ
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77. Who wrote Akbarnama ?

(A) Todar Mal (B) Birbal (C) Abul Fazl (D) Faizi

•∑§’⁄UŸÊ◊Ê Á∑§‚Ÿ Á‹πÊ „Ò?

(A) ≈UÊ«U⁄U◊‹ (B) ’Ë⁄U’‹ (C) •’È‹ »§ï‹ (D) »Ò§$¡Ë

78. Which of the following is NOT associated with Mahatma Gandhi ?

(A) Sabarmati Ashram (B) Sewagram

(C) Tolstoy Farm (D) Anandwan

ÁŸêŸ ◊¥ Á∑§‚∑§Ê ◊„Êà◊Ê ªÊ¥œË ‚ ‚ê’ãœ Ÿ„Ë¥ ÕÊ?

(A) ‚Ê’⁄U◊ÃË •ÊüÊ◊ (B) ‚flÊª˝Ê◊

(C) ≈UÊÚÀ‚≈UÊÚÿ »§Ê◊¸ (D) •ÊŸ¥ŒflŸ

79. Two positions of a block are shown below. When 2 is at the bottom, which number will be at
the top ?

Á∑§‚Ë é‹ÊÚ∑§ ∑§Ë ŒÊ ÁSÕÁÃÿÊ° Œ‡ÊÊ¸ÿË ªÿË „Ò¥–  ¡’ 2 Á’ãŒÈ∞° ÁŸêŸ Ã‹ ◊¥ „Ê¥ ÃÊ ∆UË∑§ ß‚∑§ ™§¬⁄U Á’ãŒÈ•Ê¥ ∑§Ë ‚¥ÅÿÊ
„ÊªË —

    (i)    (ii)

(A) 1 (B) 4

(C) 6 (D) Cannot be determined/ÁŸœÊ¸Á⁄UÃ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ

80. Earth Hour is organized by :

(A) Earth Hour Foundation (B) UNESCO

(C) WWF (D) UNEP

•Õ¸ •Êfl⁄U ∑§Ê ª∆UŸ Á∑§‚Ÿ Á∑§ÿÊ?

(A) •Õ¸ •Êfl⁄U »§Ê™¥§«U‡ÊŸ (B) ÿÍŸS∑§Ê

(C) «UéÀÿÍ.«UéÀÿÍ.∞»§. (D) ÿÍ.∞Ÿ.ß¸.¬Ë.

81. The ratio of the father’s age to the son’s age is 3 : 1. The product of their ages is 147. The ratio
of their ages after 5 years will be :

Á¬ÃÊ ÃÕÊ ¬ÈòÊ ∑§Ë •ÊÿÈ ∑§Ê •ŸÈ¬ÊÃ 3 : 1 „Ò–  ©Ÿ∑§ •ÊÿÈ ∑§Ê ªÈáÊŸ»§‹ 147 „Ò–  ¬Ê°ø fl·¸ ’ÊŒ ©Ÿ∑§Ë •ÊÿÈ ∑§Ê •ŸÈ¬ÊÃ
„ÊªÊ —
(A) 13 : 6 (B) 12 : 5 (C) 14 : 6 (D) 3 : 2
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82. Periyar Tiger Reserve is in :

(A) Odisha (B) Goa (C) Tamil Nadu (D) Kerala

¬Á⁄UÿÊ⁄U ’ÊÉÊ •Ê⁄UÁˇÊÃ flŸ „Ò —

(A) •ÊÁ«U‡ÊÊ ◊¥ (B) ªÊflÊ ◊¥ (C) ÃÁ◊‹ŸÊ«È ◊¥ (D) ∑§⁄U‹ ◊¥

83. CONDENSE : SHORT : :

(A)    shrink : wet (B)    measure : equal

(C)    magnify : invisible (D)    deflate : flat

‚¥ÉÊÁŸÃ : ‚¥ÁˇÊåÃ : :

(A)    Á‚∑È§«∏Ÿ : ªË‹Ê (B) ◊Ê¬ : ‚◊ÊŸ

(C) flœ¸Ÿ : •ŒÎ‡ÿ (D) Á¬ø∑§ÊŸÊ : ‚¬Ê≈U

84. Which of the following diagrams indicates the best relation between Mammal, Cow and
Bat ?

ÁŸêŸ ◊¥ ‚ ∑§ÊÒŸ-‚Ê «UÊÿª˝Ê◊, SÃŸ¬ÊÿË, ªÊÿ ÃÕÊ ø◊ªÊŒ«∏ ∑§ ◊äÿ ‚’‚ ©ûÊ◊ ‚ê’ãœ Œ‡ÊÊ¸ÃÊ „Ò?

(A) (B) (C) (D)

85. Upanishads are books on :

(A) Medicine (B) Politics (C) Philosophy (D) Science

©¬ÁŸ·Œ, Á∑§Ÿ ¬⁄U Á‹πË ¬ÈSÃ∑§ „Ò?

(A) •ÊÒ·œ (B) ⁄UÊ¡ŸËÁÃ (C) Œ‡Ê¸Ÿ‡ÊÊSòÊ (D) ÁflôÊÊŸ

86. Dinesh is younger to Roshan by 9 years. If their ages are in the respective ratio of 4 : 5, how
old is Dinesh ?

ÁŒŸ‡Ê, ⁄UÊ‡ÊŸ ‚ 9 fl·¸ ¿UÊ≈UÊ „Ò–  ÿÁŒ ©Ÿ∑§ •ÊÿÈ ∑§Ê •ŸÈ¬ÊÃ 4 : 5 „Ê ÃÊ ÁŒŸ‡Ê ∑§Ë •ÊÿÈ ÄÿÊ „Ò?
(A) 30 (B) 32 (C) 33 (D) 36

87. The concept of dyarchy was introduced by the :

(A) Morley Minto Reforms (B) Charter Act

(C) Montague Chelmsford Reforms (D) None of the above

mÒœ ‡ÊÊ‚Ÿ ∑§Ë •flœÊ⁄UáÊÊ Á∑§‚∑§Ë ŒŸ „Ò?

(A) ◊Ê‹¸ Á◊ã≈UÊ ‚ÈœÊ⁄U (B) øÊ≈¸U⁄U •ÁœÁŸÿ◊

(C) ◊Êã≈UªÍ øê‚»§Ê«¸U ‚ÈœÊ⁄U (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥
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88. Who was the world’s first woman amputee to climb Mount Everest ?

(A) Arunima Sinha (B) Arati Saha

(C) Priyadarshini (D) None of the above

◊Ê™¥§≈U ∞fl⁄US≈U ¬⁄U ø…∏Ÿ flÊ‹Ë Áfl‡fl ∑§Ë ¬„‹Ë Á¿UãŸÊ¥ª ◊Á„‹Ê ∑§ÊÒŸ ÕË?

(A) •L§ÁáÊ◊Ê Á‚ã„Ê (B) •Ê⁄UÃË ‚Ê„Ê

(C) Á¬˝ÿŒÁ‡Ê¸ŸË (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥

89. Balloons are filled with :

(A) Nitrogen (B) Helium (C) Oxygen (D) Argon

ªÈé’Ê⁄UÊ¥ ∑§Ê ÷⁄UÊ ¡ÊÃÊ „Ò —

(A) ŸÊß≈˛UÊ¡Ÿ ‚ (B) „ËÁ‹ÿ◊ ‚ (C) •ÊÚÄ‚Ë¡Ÿ ‚ (D) •Êª¸Ÿ ‚

90. Who was responsible for the Jallianwala Bagh massacre ?

(A) General Dyer (B) Saunders

(C) Kingston (D) None of the above

¡Á‹ÿÊ°flÊ‹Ê ’Êª Ÿ⁄U‚¥„Ê⁄U ∑§ Á‹∞ ∑§ÊÒŸ Á¡ê◊ŒÊ⁄U ÕÊ?

(A) ¡Ÿ⁄U‹ «UÊÿ⁄U (B) ‚Ê™°§«U‚¸

(C) Á∑¥§ªS≈UŸ (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥

91. Which institution was created to regulate the real estate sector ?

(A) Real Estate Regulatory Authority (B) Indian Estate Commission

(C) Real Estate Authority of India (D) None of the above

Á⁄Uÿ‹ ßS≈U≈U ˇÊòÊ ¬⁄U ÁŸÿ¥òÊáÊ „ÃÈ ªÁ∆UÃ ‚¥SÕÊ „Ò —

(A) Á⁄Uÿ‹ ßS≈U≈U ÁŸÿÊ◊∑§ ¬˝ÊÁœ∑§Ê⁄U (B) ÷Ê⁄UÃËÿ ßS≈U≈U •ÊÿÊª

(C) ÷Ê⁄UÃ ∑§Ê Á⁄Uÿ‹ ßS≈U≈U ¬˝ÊÁœ∑§Ê⁄U (D) ©¬⁄UÊÄÃ ◊¥ ∑§Êß¸ ÷Ë Ÿ„Ë¥

92. Choose a figure which would most closely resemble the unfolded form of Figure (Z).

©‚ ÁøòÊ ∑§Ê øÿŸ ∑§ËÁ¡∞ ¡Ê (Z) ∑§ πÈ‹ ÁøòÊ ∑§ ‚flÊ¸Áœ∑§ ‚ÊŒÎ‡ÿ „Ê–

   (X)           (Y)            (Z)

   (1)  (2)         (3)      (4)

(A) (1) (B) (2) (C) (3) (D) (4)
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93. An Administrator of a Union Territory is called :

(A) Lieutenant-Governor (B) Governor-General

(C) Home Minister (D) Chief Commissioner

∑§ãŒ˝ ‡ÊÊÁ‚Ã ¬˝Œ‡Ê ∑§ ¬˝‡ÊÊ‚∑§ ∑§Ê ÄÿÊ ∑§„Ê ¡ÊÃÊ „Ò?

(A) ‹ç≈UËŸã≈UU ªflŸ¸⁄U (B) ªflŸ¸⁄U ¡Ÿ⁄U‹

(C) ªÎ„ ◊¥òÊË (D) ◊ÈÅÿ •ÊÿÈÄÃ

94. Identify the figure that completes the pattern.

©‚ ÁøòÊ ∑§Ê ¬„øÊŸ ∑§ËÁ¡∞ ¡Ê ¬˝ÁÃ◊ÊŸ ∑§Ê ¬Í⁄UÊ ∑§⁄UªÊ–

        (X)                        (1)                   (2)                    (3)                   (4)

(A) (1) (B) (2) (C) (3) (D) (4)

95. Which of the following goods and places are NOT matched correctly ?

(A) Darjeeling Tea - Assam (B) Tirupati Laddu - Tamil Nadu

(C) Dal Baati Choorma - Rajasthan (D) Dhokla - Gujarat

flSÃÈ ÃÕÊ SÕÊŸ ‚ ‚¥’¥ÁœÃ ÁŸêŸ ◊¥ ∑§ÊÒŸ-‚Ê ‚„Ë Á◊‹ÊŸ Ÿ„Ë¥ „Ò?

(A) ŒÊ¡Ë¸Á‹¥ª ≈UË - •‚◊ (B) ÁÃM§¬ÁÃ ‹«˜U«ÍU - ÃÁ◊‹ŸÊ«È

(C) ŒÊ‹ ÷ÊÃË øÈ⁄U◊Ê - ⁄UÊ¡SÕÊŸ (D) …UÊ∑§‹Ê - ªÈ¡⁄UÊÃ

96. Which of the following is NOT an e-commerce portal ?

ÁŸêŸ ◊¥ ∑§ÊÒŸ-‚Ê ∞∑§ e-∑§ÊÚ◊‚¸ ¬Ê≈UU¸‹ Ÿ„Ë¥ „Ò?

(A) eBay (B) Amazon (C) Flipkart (D) BabaBuy
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97. Study the following figure and answer the question given below.

ÁŸêŸ ÁøòÊ ∑§Ê •äÿÿŸ ∑§ËÁ¡∞ ÃÕÊ ÁŸêŸ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U ŒËÁ¡∞–

    

By which letter, the people who live in joint family but are neither married nor teachers are
represented ?

fl ‹Êª ¡Ê ‚¥ÿÈÄÃ ¬Á⁄UflÊ⁄U ◊¥ ⁄U„Ã „Ò¥ ¬⁄UãÃÈ Ÿ ÃÊ fl ÁflflÊÁ„Ã „Ò¥ ŸÊ „Ë Á‡ÊˇÊ∑§ „Ò¥, ∑§Ê Á∑§‚ •ˇÊ⁄U ‚ ÁŸM§Á¬Ã Á∑§ÿÊ ªÿÊ
„Ò?
(A) T (B) R (C) Q (D) S

98.

    (i)       (ii)

Two positions of a dice are shown above. When there are two dots at the bottom, the number
of dots at the top will be :

(A) 3 (B) 5

(C) 6 (D) Cannot be determined

Á∑§‚Ë ¬Ê‚ ∑§Ë ŒÊ ÁSÕÁÃÿÊ° Œ‡ÊÊ¸ÿË ªÿË „Ò¥– ¡’ Ã‹ ◊¥ ŒÊ Á’ãŒÈ „Ê¥ ÃÊ ∆UË∑§ ß‚∑§ ™§¬⁄U Á’ãŒÈ•Ê¥ ∑§Ë ‚¥ÅÿÊ „ÊªË —
(A) 3 (B) 5

(C) 6 (D) ÁŸœÊ¸Á⁄UÃ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ

99. Convert 21 km/hr into metres/second ?

21 Á∑§.◊Ë./ÉÊ¥≈UÊ ∑§Ê ◊Ë./‚. ◊¥ ’ŒÁ‹∞–
(A) 5.6 (B) 5.833 (C) 5.95 (D) 6.7

100. Hot winds blowing in the northern plains in summers are called :

(A) Kaal Baisakhi (B) Trade winds (C) Loo (D) Chinook

©ûÊ⁄UË ◊ÒŒÊŸ ◊¥ ª˝Ëc◊ ´§ÃÈ ◊¥ ’„Ÿ flÊ‹Ë ª⁄U◊ „flÊ ∑§„‹ÊÃË „Ò —

(A) ∑§Ê‹ ’Ò‚ÊπË (B) √ÿÊ¬Ê⁄U ¬flŸ (C) ‹Í (D) ÁøŸÍ∑§

- o 0 o -
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